F25RIEWHMIAI—XE L FHFRMERSIER AT LT RY—k/S—5ilE  2018/9/2

BB |V5R| RG] E& |([EE K4 | HHTH | PERKRFE ]

60m W55 1110.14  |+01 |EBfz =7& 56 KT
100m W65 1116.74  [+0.1 |¥&iF HE-F 67| A&

W55 1117.00 [+0.1 |Bfs =74 56 KT

W24- 111423  |+01 [{E@E #HE 21| LB |R#F K=H
200m W65 1136.64 |-09 [#BH EF 67(F&E™

W24~ 1129.83  |-09 |[{kfk #H=E 21|KB™ | R - KREH
400m W65 &M BEF 67|H%&ET DNS

W24- 1]1.08.18 £ thE 21| LB | R K=H
3000m W55 1]13.03.89 INHE BXE 55| B MR | B -KEH
2000mSC| W55 1/10.13.65 NHE HBE 55 &M | R -KEH
iz W75 B FAZ 78| XBRX DNS
M W75 Bl EHA 18| KBARX DNS
Py W75 Bl EFHZ 18| XBARX DNS

1/7

2018/09/19



E25RAIEWMYRAI—AELBEMEARER

AT LT R —k =5l 2018/9/2

BB |(V3R|)EfG| & |(BEE K4 | HHTH | PERKRFE ]
60m M80 111042  |+0.1 [FH & 81|BEMm |K&=#H
2(1086  |+0.1 /MR ERAE 81[5REX X=#H
3|12.83  |+0.1 |;BiE #i&E 82(FMA™ | K&=#H
Nk BE 80| &FEMX DNS
M75 111087  |+0.1 [EEA FHA 16[RIET
M65 8.94 +0.1 |51 #E— 66| LIz E =7
M60 1/8.68 +0.1 [fE R K Zk 60|Z BT | K=#
2|110.18  [+0.1 |HH EZER 60[RX
M55 8.86 +0.1 |KH Z=i 58|LLfiZ I8 T—7
M50 1/8.50 +0.1 IR 18 50(KABEX
M45 1|7.67 +0.1 [1kBE F— 46|FERX |K2#H
7.78 +0.1 [k FHA 47|12 B 5 =T
8.61 +0.1 |TEH th— 46(12B R =7
M40 7.98 +0.3 B K 41|1BB R =T
8.07 +0.3 |AiE 2E 42| L8 =T
9.07 +0.3 | K EF RERER =T
M35 1|7.88 +0.3 |#RiE FF 35| FER
2(7.92 +0.3 /NS #h 36| FER
3[8.14 +0.3 | =15 MR 36[RIET™
M30 1]7.84 +1.9 |BkR HA KZIPN =]
=fE 34|EEH DNS
7.32 +1.9 |XifE E— 2(EER =7
M25 1]7.23 +19 [E FiE 28| EMRX  |B#H. K=#H
M24- 1/8.06 +1.9 (& EtiE UFERX | K=#H
100m M80 1117.31  |+0.1 [FH & 81|BEMm |K&=#H
2139.95 [+0.1 |Nfk BE 80[&E X
INR ERE 81|REX DNS
M75 111749 |-02 [#E) & 76| EHT
2(17.69  [-0.2 |EEAX EFH ENET
M65 111522 |02 |1 F— 66|% X
2|1594  |-0.2 |Fx) B 694 B
IR Fik 67| & DNS
=fE 66(ILiz 2 DNS
M60 111420 |00 |[fEcK F& 60| Z B
2|1555 (0.0 |iEE ZEth 60 | fF ET
EX & 61|BGET™ DNS
M55 1460 |00 |[KH ZH=i# 58(ILTZ IR =7
2/1

2018/09/19




F25RIEWHMIAI—XE L FHFRMERSIER AT LT RY—k/S—5ilE  2018/9/2

BB |(V3R|)EfG| & |(BEE K4 | HHTH | PERKRFE ]
100m M50 111379 |00 [JIE 1&Hk 50(ABX
= Bz 53[FERX DNS
1406 |00 [#2% #z 54 (BRI HR r—7
M45 111220  |+04 |{kfE =— 46| FERX |K2#H
2(1395  |+04 |AfR IE# 47|FER
ek B— |FER DNS
PHA I 47|REX DNS
1247  |+04 |{Efk FBA 47| ER =T
1385  |+0.4 |FEFT #h— 46|RE R F—7v
M40 1297  [+04 |GiE 1£HA 42( 1Lz 2 r—7
1291 [+04 [F& K& MEBER r—>
M35 111203  |+0.1 [ABIR BASE B|EA™ | KEH
2(1226  |+0.1 |/NE #R BIFER | K=#H
3[1253  |+0.1 |[#RiE %7 35 FER
4{1258  |+0.1 |TEH HEX 35[REX
5(13.15  |+0.1 |=#E R KEX N
6(13.58  [+0.1 |7kiB Ki# 35| EMWT
7(14.03  |+0.1 [HH BT 9|EHE
M30 111253  |-0.1 (B3R A K21y N =]
= 34(EE™H DNS
1165 |-0.1 [Xi7E &— 2(E_ER r—T>
1257 |01 (8RB 1&& 33[EREED r—7
M25 111151 |01 |& HiE 28|EMRX  |REF-KREH
K &= 29[ R DNS
M24- 111203  |-0.1 [IE& 3| FER
200m M80 1137.90 |-09 [FH & 81|B&Mm |K&#H
Nk BE 80[E X DNS
M75 113682 |-09 [#E) & 76| EHT
2(3759  |-0.9 |#EEA KEA ENET
M70 IITF BB 70K DNS
M65 1133.10 |-09 [E#HE F— 66[R X REH
IR Fik 67| & DNS
M55 KB =i 58(ILTZ IR DNS
M45 1125.40 |11 |[{5fE =— 46| FERX
ek B8— |FER DNS
2537 |-1.1 |{k#E 83 47|12 B 8 =7
3/1

2018/09/19



F25RIEWHMIAI—XE L FHFRMERSIER AT LT RY—k/S—5ilE  2018/9/2

HB |V5R|IEGL| R |(EE K4 | HHTH | PERKRFE ]
200m M35 112483 |-11 /M8 #R 36| FER
2(25.60 |-1.1 |[#RiE =7 3BFER
312942 |-1.1 |&FH BT 9[EWER
M30 2633 [-09 |¥iTE &— 2|EEE F—Tv
e 1&E RE]E 3¢ DNS
M25 112391  |-09 [E Fi 8B | REF-KEH
K &= 29| R DNS
M24- 112464 |-09 [IBX 4 B FERX
22665 [-09 |& EHiE 24| FERX
400m M75 1]1.27.99 =8 1T 77| RIS
EerK &— 75| KB DNS
KHT H5 75| FHE DNS
M60 SH && 61(ILfiz2 DNS
M40 56.27 A B& R(EBER =7
1.11.38 WK FE 43|BEEE r—To
M35 1154.99 EH X 35|k A=#h
2(1.07.93 ki K& 35| EH™
M30 1/55.60 =k LR 1|FIFFHT | K&=#H
M24- 1/58.55 i& BAR B|FERX
800m M80 114.11.16 dE EAE 82(FMAT™ |REF-KREH
M75 3.28.20 FEH fhE 75Uz 2 r—7
KAl 85 5| FHE DNS
M60 1|2.40.07 Y —A 60[FER |K=#H
2|2.49.80 +Z IR 61[FERX
2.55.24 EH && 61(ILfZ IR r—7
M55 1/3.08.31 R & 55[R X
M45 1]2.34.32 £E EM 49| =W EFX
M40 2.14.33 AR B 412(B S8 r—7>
M35 1]12.10.59 EH X 35|5REX R=H
Bl BA 35| B HT DNS
M24- 1]2.05.82 Z8 RE 22lKBR | K&H
2|2.11.53 is BAH B|FERX
1500m M75 7.12.22 FEH B 75| LR r—7
M65 5% BH 66(F&™ DNS
M60 1/5.29.98 BBy —A 60[FERX |K&H
2|5.42.02 2 IR 61|FER
#®E &= 62| 5 F & DNS

4/17
2018/09/19



F25RIEWHMIAI—XE L FHFRMERSIER AT LT RY—k/S—5ilE  2018/9/2

BB |V5R| RG] E& |([EE K4 | HHTH | PERKRFE ]
1500m M55 116.18.10 K & 55[5R X
M45 1|14.34.48 SH EA 48|BETH | K&=H
2|5.21.30 E£XE IEM 49| EHEF X
M35 Bl BA 35| EHT DNS
M24- 114.15.71 Z8 7% 22| KB |R#H-K=H
=F % 24|lLZ 8 DNS
3000m M75 FE fhE 75( 1L 2 DNS
M65 1]13.20.18 RE F— 68|BHEX | K=#
M60 FE L 61[FEX DNS
5000m M45 1]17.05.74 SH ERA 48| | K&=#H
100mH M60 1]21.51 00 [E& Zth 60| F| ¥ BT
M55 2052 [+02 |AE EE 56| )IIR =T
M50 1]123.16  [+0.2 |[BAR Z3A S51|EA™ | K=#H
400mH M55 1.10.18 Mt FE 56| %12 =7
3000mSC| M55 1]14.53.00 Tl E5ER 56(5R X REH
13.54.10 Mt EE 56|tZE)IIIR =7
3000mW | M65 1121.10.02 =tE &# 69| FER |K=#
M60 1]120.17.97 HHE B 60[5RX REH
M55 1]20.37.78 T E5ER 56(5R X
M24- 13.05.90 =% % 24(lUFZR |BARF =7
5/7

2018/09/19



F25RIEWHMIAI—XE L FHFRMERSIER AT LT RY—k/S—5ilE  2018/9/2

BB |V5R| RG] E& |([EE K4 | HHTH | PERKRFE ]
E= Bk M55 1]1.50 HE CR 5618
M50 1]1.70 Bk =& 50[FER | K=#H
2(1.60 BAR 5A 51|48
3|1.50 = RZ 53| FER
M45 EH F* 47| R DNS
M40 1]1.70 INE O BREE MNIFER
ENE Bk M80 1]2.91 +0.3 [/hNE ER4E 81[REX RE=H
M65 114.12 +1.2 [ F— 66X
M60 ER & 61|BET™ DNS
3.86 +1.5 (A = 62[5F & r—7
M55 1/5.05 +1.6 |#:ZE {25 5618 F ™™
M50 1/4.81 +0.3 =k E2 53[FERX
472 +0.1 [E #z 54 BRI HD r—7
ik B 50| LUz IR DNS
M45 114.28 +0.2 |k #B— LEFER
2|4.15 +0.6 (BEHA I 47|RX
AR IEH 47| FER DNS
M40 4.34 +1.4 85K FF R3(EEE r—T>
M35 1/6.44 +0.4 |REIR BASE BEAEM | KeH
M30 115.11 +0.7 |BR HA KZIPN =]
=Bk M75 PNCIRE: 5| EHE DNS
M60 ER & 61|BHET™ DNS
M55 E CR 5618 £ DNS
M50 111112 [+08 Bl =3 50| FHER
BAE #3h 51|EAM DNS
9.21 +1.3 | #Hz 54 BRI HD r—7
£k B 50(ILfiz 2 DNS
M45 AR IEH 47|FER DNS
M35 111392  |-1.1 [R&R Hask JBEAEM |BEF-KEH

6/7
2018/09/19



F25RIEWHMIAI—XE L FHFRMERSIER AT LT RY—k/S—5ilE  2018/9/2

BB |V5R| RG] E& |([EE K4 | HHTH | PERKRFE ]
iz M75 Rk fg— 76|FA T DNS
M65 B EE 69[5F 8 DNS
M60 119.95 INEF E1E 60| =3 X
M50 1]10.25 FE Ex 52| R
o A 45 M75 Rk E— 76| ET DNS
M65 1]26.20 TE F— 68| =M EF X
M60 1/31.68 INEF EiE 60| =3 EF X
23.58 EH && 61(ILFZIE T—Jv
HHE B 60[R X DNS
M35 1]20.43 HA —X 35K
NoI—% | M75 Rk E— 76| A HE T DNS
M50 1/32.40 EilR =3 50FER | K=#
M35 1119.44 KB K& [ ZEWT | R - KEH
2[12.84 BE —X 35| KT
Y M45 SH FA 48| B EH DNS
M35 1]27.08 BE —X 35| K&
7/1

2018/09/19



